Y2751 81 BRE

X O AEERAAEDESTHEFEE

—— T 2x 53 Z 5
m oA O 5876 1,143 1,327 14,470
BARAAD 5,808 7,116 1,272 14,388
HEAAD 68 (40) 27 55 82
% O NEOAACOESEERE
EBSHHEE (BERA)
=050 iy = z
IR A 8 10 13 23
| 4+ O O 1 1
HrEsScE S @) O @) @)
SR EUH 1 1 1 2
HEDOBES 4
st 13 11 15 26
IR £ 12 22 19 41
114 | 2 4 8 12
HiEBbR<5 @) O @) @)
SR AEUH O O O O
R EH% @)
st 14 26 27 53
BEIER -1 -15 -12 27
KSHHHEH GANEA)
Ee)EH il 5 Z i
I A O O O O O
£ 4 O O O O O
iEEk=E O O O O O
DRSS O O
5t O O O O O
IR £ O O @) @) @)
114 C O O O O O
HE B RS O O @) @) @)
R H% O (0
i 0 (O O O O
BEE R 0 O O O O
¥ O ARBAAEDESTEFHEE
TH265128 1 BRI
—————— T W% = Z
m oA O 5877 7,158 7,339 14,497
BARAAD 5,809 7,131 1,284 14,415
SEAAND 68 (40) 27 55 82




Y2728 1 BRE

—— jLikGEE = Z 5
m oA O 5870 71,134 7,323 14,457
BARAAD 5803 7,108 7,268 14,376
HEAAD 67 (40 26 55 81
% O REEARAAEDEST=HE
KISHRIHE (BXAN)
[ EHFHEA ik 5 Z 5
IR A 11 13 18 31
| 4 O 4 2 6
Mg ES O O O @)
SR EUH O O O O
HEDOBES 1
st 12 17 20 37
IR £ 8 15 15 30
14 | 9 10 9 19
HME BPRS O O O @)
#x ABUH @) O O O
HESHE O
st 17 25 24 49
BEIER -5 -8 -4 -12
KISHRIHEH GREAN)
EHEEH ik 5 Z 5t
I A O O O O O
£ 4 O O O O O
HEOERE O O O O O
DRSS O (0
5t O O O O O
IR £ 1 (O 1 O 1
14 C O O O O O
HE B RS O (0 O @) O
HESHE O)(@)
5t 1 O 1 O 1
BEE R -1 (O) -1 O -1
¥ O REBAAEDESTETHE
TH2TE 21 BEE
—— R = Z 5
wm oA O 5876 7,143 7,327 14,470
BARAAD 5808 7,116 1,272 14,388
HEAAD 68 (40) 27 55 82

X O REERAEDEST 5B




Y2738 1 BRE

—— jLikGEE = Z 5
m oA O 5879 7,130 7,323 14,453
BARAAD 5811 7,103 7,268 14,371
HEAAD 68 (41) 27 55 82

% O REEARAAEDEST=HE
KISHRIHE (BXAN)

[ EHFHEA ik 5 Z 5
IR A 12 12 17 29
| 4 O O 1 1
Mg ES O O O @)
SR EUH O O O O
HEDOBES 2

st 14 12 18 30
IR £ 1 9 10 19
14 | 5 8 8 16
HME BPRS O O O @)
#x ABUH @) O O O
HESHE O

st S} 17 18 35
BEIER 8 -5 O -5

KISHRIHEH GREAN)
EHEEH jlitss 5 Z i
I A 1 (1) 1 O 1
£ 4 O O O O
HEOERE O O O O
DRSS O

5t 1 (1) 1 O 1
IR £ O O O O
14 C O O O O
HE B RS @) O @) O
HESHE O

5t ON() ] O O
BEE R 1 (1) 1 O 1

¥ O REBAAEDESTETHE
TH2TE2 A1 BEE

—— R = Z 5
wm oA O 5870 7,134 7,323 14,457
BARAAD 5803 7,108 1,268 14,376
HEAAD 67 (40 26 55 81

X O REERAEDEST 5B




YIR27TE481 BRE

 —— THEER 3 44 5
i A O 5,891 7,108 7,326 14,434
BAAAD 5,823 7,081 7,271 14,352
HEAAO 68 (40) 27 299 82
X O RAEBRAEDEEEFEE
KIHSHRIHE (BEN)
[  EIFH jidE) = <4 5

g A 25 30 41 71

B & ©) 2 1 3
BitEscE S O O O ©)

SR EUH ©) O ©) ©)
HHEoRES 3

5T 28 32 42 74

g B 10 41 33 74

% T 6 13 6 19
BB EbRSS O O O O]

SR ARCH O O O ©)
HHEEHE ©)

5T 16 54 39 93

BEigE 12 22 3 =1/

EHNSHRIHE GNEA
e e s = 24 5T
I A O o) ©) O)

B E O O ©) o)
BIELES O o) ©) O)
WHEDBES O

5T O O O] ©) o)

g 1B O (1) O ©) O

T O O ©) O)

B EbRS O O ©) O
HEESHS O
5t o (1) O 0) O
BEEE O -1 O) O) 0)
X O REBAACDRESHETBIEBIESHEROEAADGE UEZED,. BESHRA1, SREF+1)
2753381 BRE
 —— THEER > 24 5T
i A O 5879 7,130 7,323 14,453
BAAAD 5,811 7,103 7,268 14,371
HEAAO 68 (41) 27 55 82

X O AFEARAAEDREETETEE




Y2758 1 BRE

[ L Y3 o4 g
m oA O 5,888 7,096 7,318 14,414
BARAAD 5,858 7,067 7,263 14,330
SREAAND 70 (40) 29 55 84
% O NEOAACDESTRER
FESEHREE (BEAN)
— wyEs i = =z
#n A 10 14 21 35
fun] 4+ O 1 1 2
HitEsScEE @) O @) @)
s EVE @) 1 @) 1
tHE DRSS @)
Hi 10 16 22 38
#n ! 10 22 25 47
14 | 5 8 5 13
feE B IRF @) @) @) @)
s ABE O 0] O O
tHEEHE @)
&t 15 30 30 60
HEIEE -5 -14 -8 -22
EBSHEMHE (GREAN)
EESIESRS it 5 o4 i
I A 3 3 O 3
+H 4 O O O O
fECEE 0] 0] O O
HE DRSS @)
gt 3 (0 3 O 3
#r un! 1 1 O 1
5k C 0] 0] O O
feiE B IR O @) @) @)
HEEHE @)
&t 1 (0) 1 O 1
B 2 (0 2 O 2
X O ABBAAEDESTETHBE
TB27TE48 1 BRI
[ LR % o4 5
m oA O 5,891 7,108 7,326 14,434
BARAAD 5823 7,081 1,271 14,352
ANEAADO 68 (40) 27 55 82

X O AFEARAAEDREETETEE




Y2768 1 BRE

— T ES g :
NI 5890 7,103 7312 14,415
BAAAD 5861 7074 7058 14,332
HEAAD 69 (40) 29 54 83

% O RTESTETHE5
KNEHRIHE (BEXA)

[ E#=d it 3 Z 5
A 16 26 15 41
= 0 0 3 3
RS 0 0 0 0
b5 LA 0 0 0 0
e DS 0

&t 16 26 18 44
T 12 15 20 35
= 0 4 3 7
BENRS 0 0 0 0
S ARE 0 0 0 0
HEaHS 1

&t 13 19 23 42
BEEmE 3 7 5 2

2NEHRIHE GRBA)
SRS eSS i ES g T
A 0 0 0 0
TS 0 0 0 0
BEDES 0 0 0 0
RS 0

&t 0 0 0 0 0
T 0 0 0 0
A= 0 0 0 0
BENRS 1 0 1 1
HEEHE O

&t 1 ) 0 1 1
e 1 0 0 = 1

% O NGOARNED RSB

TR27ES5A 1 BRE

— T ES g :
N 5888 7,096 7318 14,414
BAAAD 5858 7,067 7063 14,330
HEAAD 70 (40) 29 55 84

X O NIEEETERB




YR27E 781 BRE

— BB 3 g :
T PNEE 5895 7.094 7,301 14,395
BAAAD 5865 7.064 7047 14,311
HNEAAD 70 (40) 30 54 84

% O REEARAAEDEST=HE
FEBBHEE (BEN)

[ E#=d it S %3 5
A 15 17 15 32
= 0 0 0 0
BiEch S 0 0 0 0
BB 0 0 0 0
0 DEES 0

5t 15 17 15 32
e 6 17 18 35
BT 5 10 8 18
B SRS 0 0 0 0
S ARE 0 0 0 0
HEaHS 0

&t 11 27 26 53
EEEE 4 10 11 21

REAHBHEE REA
EEJEY it 3 Z :
A 1 1 0 1
TS 0 0 0 0
BiEDES 0 0 0 0
DS 0

&t 1 (0 1 0 1
T 0 0 0 0
A= 0 0 0 0
BiESRS 0 0 0 0
HESHE @)

it 0 O 0 0 0
EEEG 1 0 1 0 1

% O NEOAKREDROBaHE

TR27E6 8 1 BRE

—— T 3 g :
N 5890 7,103 7312 14,415
BAAAD 5861 7074 7,058 14,332
HNEAAD 69 (40) 29 54 83

X O AFEARAAEDREETETEE




Y2781 BIRE

— BB 3 g :
T PNEE 5,900 7,091 7006 14,387
BAAAD 5870 7,061 7042 14,303
HNEAAD 70 (40) 30 54 84

% O REEARAAEDEST=HE
FEBBHEE (BEN)

[ E#=d it S %3 5
A 11 17 15 32
S 0 5 > 7
BiEch S 0 0 0 0
BB 0 0 0 0
0 DEES 3

5t 14 22 17 39
e 7 20 12 32
BT 2 5 10 15
B SRS 0 0 0 0
S ARE 0 0 0 0
HEaHS 0

&t 9 25 22 47
EEEE 5 3 5 B

2SHBHEE GREAN)
EEJEY i 3 Z il
A 0 0 0 0
TS 0 0 0 0
BiEDES 0 0 0 0
DS 0

&t 0 O 0 0 0
T 0 0 0 0
A= 0 0 0 0
BiESRS 0 0 0 0
HESHE @)

it 0 O 0 0 0
EEEG 0 O 0 0 0

% O NEOAREDRSBoHE

TR27ET A1 BRI

—— T 3 g :
N 5895 7,094 7,301 14,395
BAAAD 5865 7.064 7047 14,311
HNEAAD 70 (40) 30 54 84

X O AFEARAAEDREETETEE




Y2791 BIRE

—— =y = Z :
wm oA O 5,902 7,085 7,290 14,375
BAAAD 5874 7,056 1,237 14,293
HEAAD 68 (40) 29 53 82
% O NIOAAEDRSUREE
KESHAIHE (BEAN)
— =a=o i = Z :
#r A 12 13 18 31
uw 4 O 1 2 3
BERES 0 0 0 0
S EUH @) O 0 O
DS 5
5t 17 14 20 34
#r i 10 14 21 35
At C 3 5 4 9
BERRS 0 0 0 0
s ABUH ©) @) O @)
HEOHE 0
5t 13 19 25 44
BEISE 4 -5 -5 -10
RESHAIHE REA)
e i = Z :
I A 1 1 O 1
i s O O O @)
RigEDEE @) @) O O
DS 0
5t 1 (O) 1 @) 1
i 3 2 1 3
At C @) @) O O
BERRS 0 0 0 0
SIS 0
5t 3 (0 2 1 3
BEEE -2 (0) .l -1 -2
* O RBEAAEDESHETEE
V2758 A1 BIRAE
—— =y = Z :
wm oA O 5,900 7,091 7,296 14,387
BAAAD 5870 7,061 1,242 14,303
HEAAD 70 (40) 30 54 84

X O AFEARAAEDREETETEE




E27F1 081 BIRE

—— ey = Z :
wm oA O 5918 7,096 7,290 14,386
BAAAD 5884 7,064 1,234 14,298
HEAAD 74 (40) 32 56 88
% O NMIOAAEDRSURREE
KESHAIHE (BEAN)
— =a=o i = Z :

#r A 16 23 18 41

uw 4 O 2 3 5
BERES 0 0 0 0

S EUH @) O 0 O
DS 2

5t 18 25 21 46

#r i 8 14 19 33

At C O 3 5 8
BERRS 0 0 0 0

s ABUH ©) @) O @)
HEOHE 0

5t 8 17 24 41

BEISE 10 8 -3 5

RESHAIHE REA)
e i = Z i
I A S 3 3 )

i s O O O @)
RigEDEE @) @) O O
DS 0

5t 6 (0) 3 3 )

o5 i O O O @)

At C @) @) O O
BERRS 0 0 0 0
SIS 0

5t ON(®) @) @) @)
BEEE 6 0 3 3 &)
* O RBEAAEDESHETEE
WE27E9 A 1 BIRAE
—— =y = Z :
wm oA O 5902 7,085 7,290 14,375
BAAAD 5874 7,056 1,237 14,293
HEAAD 68 (40) 29 53 82

X O AFEARAAEDREETETEE




27F1 1 B1BRE

— T 3 g :
T PNEE 5927 7,091 7088 14,379
BAAAD 5894 7,060 7032 14,292
HEAAD 74 (41) 31 56 87
% O REEARAAEDEST=HE
KNEHRIHE (BEXA)

[ E#=d it S Z 5
A 15 20 17 37
= 0 0 > 0
RS 0 0 0 0
BB 0 0 0 0
e DS 4

&t 19 20 19 39
e 7 17 16 33
BT 3 7 5 12
BENRS 0 0 0 0
S ARE 0 0 0 0
HEaHS 0

&t 10 24 21 45
EEEE 9 4 2 5

2NEHRIHE NEA
EEJEY i ES g il
A 0 (2) 0 > 0
TS 0 0 0 0
BEDES 0 0 0 0
RS 0

&t 0 2 0 > 2
T 0 0 0 0
A= 0 0 0 0
BENRS 1 () 1 > 3
HEEHE @)

&t 1 () 1 2 3
EEEG 1 () = 0 1

¥ O NGOARNED RSB
TH27E1 081 BHE

— T 3 g :
N 5918 7,096 7200 14,386
BAAAD 5884 7,064 7034 14,208
HEAAD 74 (40) 32 56 88

X O AFEARAAEDREETETEE




YI27F 1281 BIRE

— T ES g :
NI 5932 7,092 7,089 14,381
BAAAD 5898 7,060 7230 14,290
HEAAD 76 (42 32 59 o1

% O REEARAAEDEST=HE
KNEHRIHE (BEXA)

[ E#=d it 3 Z 5
A 10 13 10 03
= 0 5 > 7
RS 0 0 0 0
b5 LA 0 1 0 1
e DS 0

&t 10 19 12 31
T 5 12 11 23
= > 7 3 10
BENRS 0 0 0 0
S ARE 0 0 0 0
HEaHS 0

&t 7 19 14 33
EEEE 3 0 2 2

2NEHRIHE NEA
SRS eSS i ES g il
A 2 (1) 1 3 4
TS 0 0 0 0
BEDES 0 0 0 0
RS 0

&t 2 (1) 1 3 4
T 0 0 0 0
A= 0 0 0 0
BENRS 0 0 0 0
HEEHE O

&t 0 0 0 0 0
e 2 (1) 1 3 4

¥ O NBOANED RSB
TH2751 181 BRI

— T ES g :
N 5927 7,091 7088 14,379
BAAAD 5894 7,060 7032 14,292
HEAAD 74 (41) 31 56 87

X O AFEARAAEDREETETEE




